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Note: i) For Regular Students: Answer aryt,f.I\7E full questions ineqpeetive of modules.
ii) For Arrear Students : Answer any FIVE full questions, choosiig ONE fuU question

from eai:hiiiodule.
iii) Use of normal distributioh t$le is allowed.

',,.,, ','' Module-l { ,.,,". ,.

la.Defineoperation..,"ffi..i,'d"*ptui@,oftipiiutionresearch.(05Marks)
b. Old hens can be brought at Rs.20 each and yopxg ane at Rs.50 each. The old hens lay 3 eggs

, per week and young one lay 5 eggs per week Each egg being worth of one rupee and thirty
paise. A hen cost Rs.4 per week to feed. He has only Rs.800 to spend for hens. How many of
each kind should be buy to give a profit of more than Rs.600 per week. Assuming that he

cannot hsodG more than 200 hens, formulate the above problern-as LPP model. (1l Marks)',,,,

a. Explain the limitations ofoperation research.
b. Solve the below given LPP graphically and find the_value"of 'Z' .

Minimize Z=l5xr+25x, "

xr + xr22 .
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a. Solve the-'below given LPP by BiEff method. ",:''T|*u'
Maximize Z=-2xr-xz
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b Define slack, ry, i su"d artificial rr,priuUt"

a. Explain how ldS you resolve degeneracy in simplex method.
b. Solve the below given LPP'by two phase method.

l5
Minimize Z-'- x, -3x"

2

3x, -x, =x3 2 3

Xr -Xz +xr>2
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followins transoortation problem and find
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Module-3
the minimum transPortation cost.
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7a.
b.

Module-4
Explain the Fulkerson's.ruie for number of nodes. (05 Marks)

Time estimates in weeki'tbi PERT net work ifuVen below. Calculat'b the following:

(i) Total expected time for the critical path

(ii) Standard deviation and varience for-the project.

iiiiy froUuUilig-*[fyoject completiofHeasi+ weeks earliei:than expected time

ii"i If the projt't due date is 19 wee& what is the prob#ility of not meeting the due date?
e

due date is 19
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a. Explain the qtieuing system,.,desoription parameters.

b. e fV repairman nnas *rat, time spent on his jobs has an exponential distribution, with

mean 30 minutes. If he,,..iea,*irs set in the order in which they come'in and if the anival ofmean 30 minutes. If he,.,ppprfirs set in the order in whtch they come'rn and lt the arnval or

sets is approximately Potsion with an average rate of 10/8 hrs day, what is repairman's

expected idle time each day. How many jobs are ahead of average set just brought in?
.,,;;; ,1;l'l:,. (11 MafkS)

2 of3

(11



9a.

b.

10 a.

b.

ffi lsM,sl
. 
jq;

.."'Module-S Mii'
Explain maximini and minimaxi principle and also*-expldrTi characteristics of Game theory.

{.,.,.F%* (05 Marks)
o^1..^ +L^ f^Il^.-,l- ^-^-L;^-11., :ia*uI&dSolve the following game graphically. {ru. Dlar,6r .D r .*r{:++iPlaver'B' * ; d""-

r-T"i bTMT-a-T_il *ry
Player'A'l I l-S I &ulo l-l I 8 | T3uil"+l-llo l-5 1 .:
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Explain the assumptions mad, solving sequencing proffifns. (05 Marks)

f ind the sequence that mifidi&es the total elapsed. tirr$ 'T' required to complete the----- ----r---ii-- -

following tasks. Each tasffibe processed in any tqe ines A, B and C in any order.

, *d&,Y Tasks **' ,
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